Model: BT30-W

Packing list

Number Name Specification Quantity Figure 1

1 4" rigid caster 4" rigid caster*2+4"swivel caster with Brake*2 242
A 71 1 AN
2 M6 hex socket bolt Galvanized/M6X8 +Blackened/M6X25 44+4 ] P
3 M6 nut Galvanized 48
4 BT30 tool holder 50
5 M4 hex socket bolt Blackened/M4X20 100
6 M4 square block Galvanized 100
7 Handle 2 & )
Note: picture / size refers to Figure 1 U ?
Model: BT40-W

Number Name Specification Quantity Figure 2
1 4" rigid caster 4" rigid caster*2+4"swivel caster with Brake*2 242
2 M6 hex socket bolt Galvanized/M6X8 +Blackened/M6X25 44+4
3 M6 nut Galvanized 48
4 BT40 tool holder 36
5 M4 hex socket bolt Blackened/M4X20 72
6 M4 square block Galvanized 72
7 Handle 2

Note: picture / size refers to Figure 2
Model: BT50-W

Number Name Specification Quantity Figure 3
1 4" rigid caster 4" rigid caster*2+4"swivel caster with Brake*2 242 s |_
2 M6 hex socket bolt Galvanized/M6X8 +Blackened/M6X25 44+4 :
3 M6 nut Galvanized 48
4 BT50 tool holder 28 m
5 M4 hex socket bolt Blackened/M4X20 56
6 M4 square block Galvanized 56 ﬁ
7 Handle 2 . s

Note: picture / size refers to Figure 2




Assembly instruction

Fixed with M6X8 screws

The handle is fixed with M6X25 screws and nuts

with M4X20 screws




